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M.E. Civil Enginecring (Construction Technology &

Management) Programme/A
The relationship between the radius of curvature R, bending moment M and flexural rigidity
El is given by :
(&) R=M/EI (B) EI=RM
(Cy M=EL'R (D) E=MIR

The equivalent length of a column fixed at one end and free at the otherend, is :
(A) D.7L | 0.5
(C) 2L m L

If a simply supported rectangular beam of span ° 1" and depth *d’ carries a central Load *W’°,
The ratio of maximum deflection to maximum bending stress is :

{A) LY 8Ed (B) LY'6Ed

(C) TAMZEd (D) [248Ed

The three hinged arch is a statically :
(A} Detenminate (B) Indeterminate
{C) Redundant (D) Woneofthe above

The centre of gravity of a right circular cone lies on its axis of symmetry at height of :

(A} h2 B) h4
(C) WS ) kA

The moment of inertia of a triangular section ( base b, height h) about an axis through its C.C

and parallel to the base, is :
(A) bh2 () hhif36
(C) bh'3 (D} bh¥12

If the young's modulus of clasticity of a material is twice its modulus of rigidity, then the
Poisson's ratio of the material is °

(A) Zern 1)

(Cy 0.5 (D) 0.5

A long column has maximum crippling load when its :
(A} oneendis fixed and other is hinged (B) oneendis fixed and other end is free
(C) bothends are hinged D) both ends are fixed
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12.

13.

14.

15.

16.

A simply supported beam carrics a varying load from zero on one end and W at the other end.
If the length of the beam is “a’ the shear force will be zero at a distance x from the least Ioaded
point where x is :

(A) a2 By a3

(C) a3 (D) av32

A two span continuous beam ABC is simply supported at A and C and is continuous over
support B. Span AB=6m, BC=6m. The beam carries a udl of 2 t/m over both the spans. El is
constant fur the entire beam. The fixed end moment at B in span BA or BC would be :

{A) 9im (B) 12tm

(C) Btm (D) 6tm

I the coefficient of active carth pressure K_is 1/3, then the cocfficient of passive earth pressure

K, is ¢

(A) 143 (B) 3

(C) 312 M) 23
Under-reamed piles are generally :

(A) Driven piles {B) Bored piles
(C) Prestressed piles (D} Precastpiles

Plasticity index is defined as the range of water content between :
{A) Semisolid imitand liqud limit

{B) Liquidand plastic limit

(C}) Plastic limitand semi solid limit

(D) Liquid lmit and selid limit

In the design of highway, expansion and contraction joints should respectively provided at :
(A) 23mand 10m (B} 50mand 10m
{C) S0mand32m (M Z3mand32m

The eritical combination of siresses for corner region in cement concrete road is :
(A) load stress + warping stress - frictional stress (B} load stress +warping stress + fctional stress
() load stress + warping stress (D) load stress + frictional stress

As per TRC recommendation, the maximum limit of super elevation for mixed traffic in terrain
is

(A) 1inlS5 (B) equalto camber

(C) 1inl2.5 ' Ly linl0

ML E, Civil Engineering {Construction Technology &
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In CBR test the value of CBR is caleulated at -

(A) both2.5 mmand 5.0 mm penetrations (B) 2.3 mm penetration only
{C) 5.0mm penetration only (13 7.0mm penetration only
The maximum spacing of contraction joints in rigid pavements is :

(A} 25m {B) 45m

(€) 5.3m (D} 35m

The % age of reinforcement in case of slabs, when high strength deformed bars are vsed is
not less than :

(A 1.00 (B} 0.13

() K12 (D) 030

According to 1.5: 456-2000), the maximum strain in concrete at the nutermost compression
fiber in the limit state design of flexural member js *

(A) 0.0020 {B) 00050

(C) 0.0035 (DN 0.0065

In the limit state design of conerete structures the strain distribution is assumed to be -

(A) Parmabolic (B) Nonlinear
(&) Linear (13) - Parabolic and Rectanguiar

1% of voids in a concrete mix would reduce its-stren gth by about :
1A) 10 % (B) 15%
{(C) 5% (D) 20%

The ratio of the diameter of reinforcing bars and the slab thickness is :

(A} 1/5 (B) 1/6

() 14 D 1/8

In an RCC beam, side face reinforcement is provided if its depth exceeds :
(A) 300 mm (B} 700 mm

{C) 750mm (D} 500 mm

A riveted joint may experience :
{A) Bearing failure of plates (B} Shear failure of rivers
(7)) Bearing faifure of rivers (1) All of these

MLE. Civil Engineerlng (Construction Technnbogy &
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If the dinmeter of a reinforcement bar is d, the anchorage value of the hook is ¢
(A) 4d (B) 8d
(C) 12d (D) 16d

Which of the following is not a water borne disease 7

(A} Typhoid (B) Cholem

(C) Dysentery (D) Malaria

The ratio of 5 day ROD to ultimate BOD is about :

(A) 34 (B} 23

{C) 13 (D 1.0

The waste stabilization ponds can be ;

(A) Facultative (B} Anaerobic

{C) Acrobic (D} - Any of the above

Lacey's regimie condition is obtained if':

(A) Silt charge inthe channel is varable

(B} Discharge inthe channel is varnable

{C) Silt grade in the channel is variable

{D}) Channel flows in unlimited, incoherent alluvium of the same character as that transported

matcrial
The scour depth (1)) of a river during flood, may be calculated from the Lacey’s equation :
{A) D=04T7(Q1)" {B) D=047(Q/P"
{C) D=04T7(0QM1 (D) D=047(Qi"

F.5.1. of a canal at its head should be kept :

(A} 15 cm higher than the water level of the parent channel
(B} 15 cm lower than the water level of the parent channel
(C) At the same level as the walter level of the parent channel
(D) None ofthe abave

The structure constructed to allow drainage water to flow under pressure through an
inverted siphon below a canal, is called :

(A) Aguednet (B} Super passage

{C) Syphon {12} Syphon aqueduct

MLE. Civil Engineering (Construction Technology &
Management) ProgrammeBG-31139-4 g
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34. Thesensitivity of a rigid moduleis :
(A) 100 (B) 1.30
{C) 2.00 (D) zem0

35. Ona flow net diagram, the distance between two consecutive stream lines at two successive
sections are 1 cm and 0.5 em respectively, If the velocity of the first section is 1 m/sce, the

velocity at the second will be :
(AY 05misec (B) 2.0mfsec
() 2.5m/sec (M) 1.0m'sec

36. Reynold's number is the ratio of inertial force and :

(A} Grvitational foree {B) Elasticity
(€Y Viscous force (D) Surface tension force

37. In the phenomenon of cavitations, the characteristic fluid property invalved is :
(A) Viscosity (B Bulk modulus of clasbcily
(C) Surface tension (D) Vapour pressurc

38, The kinetic energy correction factor o for laminar Mow through a circular pipe is :
(A) -1.67 (B} 2.00
(C) 1.54 Dy 2.33

39, In an open channel flow the characteristic length commonly used in defining the Reynold's
number is the :
(A) Wetted perimeter (B) Area‘topwidth
{C) Depthofflow (1) Hydraulic radius

40, The following is not a direct stream fow determination technique :
(A) Arcavelocity method (R) Ulrasonic method
{C) Dihmion methixd (D) Slope area method

41. Forthe irrigation of a crop, the base period B and delta (A) in meters are related to the duty
D in ha/'camec at the ficld as:
(A) D=0.864 B/a (B) B.64AB
{C) D84 AB (D) 864B/A

42. The following structure serves the purpose of a *safety valve’ for canal :
(A) Cross reguiator (B) Head regulator y
(C} Canal escape (1 Canal fall

M.E. Chvil Engineering (Construction Technology &
Management) Programme BGI-31139-4

[Tarm over

-

T



43. PERT analysis is based on :
(A) Mostlikely time {B) Pessimistic tme
(C) Optimistic ime (D) Allofthese

44. The critical activity has
{A) Zero float By Maximum float
(Cy Mimimum float {D) MNone ofthese

45. The performance of specific task in CPM, is known as :
[(A) Activity (B) Event
(C) Dummy (D) Conteacl

46. Forexcavating utility trenches with precise control of depth, the excavation equipment used

T

(A) Showl (B) Hoe
{C) Drugline (1) Noneofthe above

47. Ifacompuosite bar of steel and copper is heated, then the copper bar will be under :

48,

49.

s0.

{A) Tension
(C) Shear

For completion of a project, the eritical p

(A) Maximumtime regjuired
(C) Minimum cost required

The shear stress distribution overa rectangula

{A) Acircular path
(C) Anelliptical path

mNumber of links in 2 3} m metric chain :

(A) 100
(C) 180

A metallic tape is made of :
(A} Steel
(Cy Lainen

ALE. Civil Enginéering {Construction Technology &
Manugamcn:‘,ll’mgr:mmr.mﬁi-ﬂi 38-A

(B) Torsion
(D) Compression

ath of the network represents @

(B) Minmmum time required
(D) M cost required

r eross section of a beam follows :

([} A paraholic path

(D) Astraight line path

(B) 150

(19) 200

(B) Imvar
(D) Cloth and wires




32, The correction for sagis :
(AY Adwaysadditive
(B} Always subtractive
(C) Ahways zero
() Sometimes additive and sometimes subtractive

33. The horizontal angle between the true meridian and magnetic meridian at a place is called ;
(A)  Awmuth (B} Declinatior
()" Locai attraction (N Magne[iubcadng

- Ablockin the shape of a parallelepiped of side 1 m * 2 m * 3 m lies on the surface. Which
of the faces gives maximum stable block ?
(A) Zm=3m (B} Im=*3Im
(C) lm=2m (I3} equally stable on all faces

i
oy

33, When a 1" elass brick is immersed in cold water for 24 hours, it should not absorb water by

weight more than :
(A) 10 % {B) 15%
(C) 20% (D) 5%

56. The maximum shear stress introduced in a member which is subjected to an sxial load is

equal to :
{4A) Twicethe maximum normal stress (B) Half ofmaximum normal stress
() Maximmim nomal stress (1D} Thrice the muximum nommal stress

37, Thenumhber of independent equations to be satisfied for static equilibrium in a space structure
is :
(A) 4 (B) 2
(C) 3 I &

58, For the construction of R.C.C, slabs, eolumns, beams, walls the grade of concrete mix used is:
A} Lr%zH By 1:1,5:3

8 T LS T I.’IJJ}E'.I:E

59, A coarse grained soil has a void ratio 0,75, and specific gravity as 2,75, The critical gradient at
which quick sand condition oceurs is :
(A} 0.5 (B) 0.75
(C) 0.25 (13 1.00

MLE. Civil Enginecring { Constriction Technology &
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The determination of ultimate hearing eapacity on an eccentrically loaded square footing
depends upon the concept of useful :

(&) Triangle (B)  Widih

() Seuare () Circle

The value of bearing capacity factor for cohesion Ne, for piles as per Meyerhof is takien 28
{a) 5.14 @ 5.17
(C) 62 1 9.0

 The maximum design gradient for vertical profileof a road is

{A) Exceptional Gradient ({2)] 1 imiting Gradient
() Ruling gradient (I wfinirrurn gradient

 The method of design of flexible pavement a8 TECOM mended by TRC i3

(A) CBR method (B Westergaard miethod
{C) Group index method {1 Benkelman b miethod

For concreting heavy reinforced sections without vibration, the workability of coneret
pxpressed as compacting factor should be :

(A) 0.85-092 By 0.80- 0.85

{C) - 0.80 (D} sbove 0.91

Critical section for a two way shear in €ase of flat slabs is at a distance of :
(A) &2 from petiphery of column/capital/drop panel

(B} at the drop panel of slab

(C) effectve depth of glub from p:ri.;:hu:r;.-'ni"a:uimﬂn-‘:!.fcrp pane]

(D) atthe periphery of panel

The shear reinforcement in RCC is provided to resist:
(A) Disgonal coMpression (B Direct COMPrEsSion
() Darect TEMSLan (D) Dhiagonal tension

Lacing bars in 4 steel column should be designed to resist:
(A} §%ofthe column load

(13) shear force dugtn 2.3 % of the column lgad

(C) bending moment ducto2.5%ofthe column load

(D) both(A) and ( B)

M. E. Civil Engmenﬁng{ﬂnnﬂrucliun Technology &
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68. Settling velocity increases with :
{A) Sizeofparticles (B} Depthoftank
{C) Specific gravity of solid particles (D) Temperature of the liquid

69, Alamisa:
(A) Catalyst (B} Coapulant
(C} Flocculant (D} Disinfectad

70. The standard B.0O.D. at 20°C, is taken for the consumption in :
(A) 1 day (B) 3days
{C) 5davs (D) 2days

71. Which of the fellowing materials is more elastic 7
(A) Sleel (B) Plastic
(C) Wood (DY Rubber

73. In venturimeter, the ratio hetween throat dinmeter and pipe diameter is generally
adopted as :
(A) 1:2 (B} 14
(C) 1:8 (D) 1:10

73. Dowel on the canal bank serves the purpose of :
{A) A drzinage (H] A footpath
(C) A road curb (DY) A carriageway

74, While adjusting a leveling instrument, if telescope cannot be moved independently,
then that instrument is called :
(A) LOP level (B) Wye level
{C) Hand level (1) Dumpy level

75. When 2 brick is cut off length wisc the cut out bricks are called :

(A) Corbal {B) King closure
(C) Queen closure (D) Bat
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